SA-1 (CLASS-VI) . . 8/2016
SUBJECT : ENGLISH

Time : 3 hrs MM : 80

General Instructions

i
- i)
1i1)

iv)

Q1.

Read the questions carefully.

Number the answers as given in the guestion paper.
Write in a neat and clear handwriting.
Write the answers in complete séritences.
SECTION-A (READING)
Read the passage given below and answer lhe queslions that follow ; (7)

Mulla Nasruddin's village was known for its quiet and peaceful life. The villaders
lived with a [eeling of brotherhood. There was no violence and there were no thefts.
People never locked their houses when they went out. |

But things changed all of a sudden. One day, one of the villagers, called Giazuddin
complained to the village hcadman that somebody had stolen his garden tools. The
next day some other theft took place. The people got worried and did not know what
to do to catch the thief.

Then. the people assembled at the market place to find out a solution to their problem.
So, they decided to approach Mulla Nasruddin, who was regarded as the wisest man
of the village, to seek a solution to their problem.

When approached by the villagers, Mulla Nasruddin listened to their problem
patiently. He simply sent them away saying that he needed two days time to catch
the thief who had disturbed the peace of the village. The next day, a cart came and

stopped in front of Mulla's house, The cart man took out some wooden boxes and
kept them in Mulla's garden.

When the cart man went away, some of the villagers came and asked Mullah ‘what
is there in these hoxes, Mulla?' ‘O, they contain something very valuable. I will keep
them inside the house when it is rather dark’ said Mulla, He also asked them not to
tell anybody about the boxes and their contents. Mulla Nasruddin didnot take those
boxes inside his house. He also hid himself behind a door to Keep an eye over those
hoxes during the night.

As midnight fell, a man who had covered his face and body with a blanket came that
way. Looking all around to ensure that there was no one watching him. he put his
hand inside one of the mystery boxes. But the moment he put his hand into it, he
cried out in pain and fell on the ground.

Hearing the painful cry, the neighi:nours rushed to the place where that man was
crying. Mulla also came out from behind the door and said, ‘He is the thief, catch

(A-1)
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him and punish him the way you think proper’. Then he told the people that the
wooden boxes did not contain any valuables. They contained only beehives. The
people caught the thief and SVEIYONC praised Mullahi Nasruddin for his wizsdom =

(a)
(b)

(c)
(d)

Whal was Mullah Nasruddin's village known for? (1)

What did Mullah reply to the villagers when they approached him for their -
problem? (1)

- Why did the villagers not lock their houses when they went out? (1)

When did the peaccful climate of the village change? (1)
Who do you think was the wisest mag inihe village? Why? (2]

Find the words from the passage which meuan the same as given below -
(2xla=])

(i)  gathered r (i) & way of solving a problem

Read the poem given below and answer the questions that follow : " (6)
“This City is dirty”

was their remark,

People case themselves on

Roadside and in public parks.

There is garbage everywherc

We throw it without second thought,
Though to be clean, )

from childhood we are taught.

Sip the fruity, munch the chips.

Throw the wrappers on the ground
Why alone, I should bother

When there is so much garbage all
around

Who threw the garbage?

Not me, not me, not me.

The place can't be Paris.
Why can't you see?

Is it difficult to make it Paris?

If we have a will to do so,
Keep Lhe city clean.
Don't be your own fog]

(a)
(B)

(c)

How does the city hecome dirty? (1)
What have we been taught from our childhood? (1)

With which place has the poet compared his ¢ify? (1)

(A-2)
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Q7.

Q8.

Q9.

(210,

(d)  What ean we do to keep our city ¢laan? (1)
()  Give a suitahle title to the piven poem. (1)
) Find the words [rom the poem which mean the same as given below ; (2xl4-1)
()  enemy : (i) o eat steadily and noisily
SECTION-B (WRIT ING)

A jule bag containing an Art file and matcrial for Art activity has been |ost in the
school yesterday. Draft a notice in 110L More than 50 words, requesting the students
Lo return it if they happen to {ind it ' (4]

Write a dialogue hetween a teacher and a class, emphasizing on the need of cleanliness
ln our surroundings, Also, mention its importance in making both our environment
and planet clean. (4)

You were sullering from typhoid and as a result had to remain in beg for a long
period of time but now you have recovered. Write a letler to your Iriend narrating

your experience. (6)
SECTION-C (GRAMMAR)

Insert suilable articles to complcie the given sentences (dx1a=2)
old lady named Mrs. Martin lived in_ — Mountiains of Tenneasse.

Her sons had gone to nearby city to work. She lived with her daughters.
daughters worked on (heir farms (g éarn their living,

Fill in the blanks with suilable collective Nouns : (Px1=2)

(@) The of trees at that corner wi|] have to be cut down for constructing

the buildin g
(b) A famous ol musicians arrived for {he show on tie.

Fill in the blanks with {he Opposite of the abstract nouns given in the hrackets -

(2x1=2)
(8)  Captain Niranjan was known for his . (cowardice)
(b) It gave him immense — to know about his suceess in the examnination,
(grief)
Fill in the blanks with the correcl lorm of the verbs given in the brackets : (2x1=9)
(a) He — In the Deglamation Contest ay his teacher encouraged him.
(parlicipate)
(b)  The gardener L the plants Cveryday, (water)
Fill in the blanks with the correct option given in the brackets - (4x14=2)
(8) A fleel of ships ___ docked at the harbour (is/are)
(b)  Many of the peaches ____ ripe. (was/were)

(A-3)
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(©) Some of the milk curdled, {has/have)

(d) Mathematics _a difficult subject to masier, (is/are] ;‘

Change the words given in Lhe brackets into adverbs and complete the SGDtCHL‘EEf
(Px]l=2)

(a) We go to the templc in the evening. (regular)

(b)  The poor girl lovked ___at the loaf of bread. (hungry)

Rl in the blanks with the suitable verb [orm of the nouns given in Lhe brackets
(2x1=2)

(a) e has well for his exams. (preparation)

(b)) Weshould ... allthe festivals enthustastically. (celebration)
Rearrangde the words 10 make meaninglul sentences . ‘ (2xl=3)

Q13.

Q14.

G115,

(@) sunrise / what / splendid / a
(h)  wrote / letter / her / Kavita / a / Tiend / to
() cake / make / this / did / how / you

[l in the blanks with the suitable plural form of the words given in the brackets :

(3x1=3)
(a) The school _ were parked inside the school, (bus]
(h) Many rural _ _ protested for their rights. (womarn)
(¢) The policeman caughtthe - and put them behind the bars. (thie)
SECTION-D (LITERATURE)
Read Lhe extracts given helow and answer the questions that follow : (3x1=3)

(A) “Then when he saw it could hold no more,
Bishop Hatto, he made fast the doar,
And while for merey on Christ they call,
He set fire to the barn and burnt them all”,

(a) Who does 'he’ refer 1o in the above lines?
(b) * Why did ‘he' bolt the door of the harn?
(¢) ‘What did 'he’ do after bolung the door?

(B) “Ladies and gentlemen. you will observe that | have, with this gentlomen’s
permission, broken his watch, purnt his collar, smashed hug speetacles and
danced on his hat’, (3x1=3)

(a) Who does the word T reler to in the above lines?

(h) Name he things destroyed hy the speaker.

(A-4)
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Q13.

Q19.

Q20.

ALa

() Why did the gentleman give permission (o the speaker to damage the
things? P

. Answer the following questions in 30-40 words each : (3x2=0)

(a)  What things did Yusuf get as presents on his birthday?

(h)  Why did the Principal order the gardeners to cut the jacaranda tree? What did
Anuthi think about if?

(c) Pierre was very disturbed at the death of his horse, Joseph. Who comloried
him and how?

Answer the following questions in 30-40 words cach : (2x2=4)

(a) The 'Adventures of Isabel’ is 2 humorous poem thal conveys an important
message. Write the message in your own words,

(b)  What does the poet want to convey through the line, "Abou Ben Adhem (may
his tribe increase)?

Answer the [ollowing question in 70-80 words : : (lxd=4)

It 15 rightly said that God loves those who love their fellowmen. Elaborate with
reference to the poem ‘Abou Ben Adhem’ -

OR
‘Acts of cruelty never go unpunished’. Discuss with reference to the poem "Bishop
Hattin!:
Answer the following questions in 80-100 words : (1x5=3)

Joseph was not simply a horse but proved to be a true friend and guide for Pierre
because of his intelligence. Give suitable examples from the lesson 'A Secret for Two'
(o support the above statement.

QR

Imagine you are Anuthi. Write a diary entry expressing your fcclings when you were
not selected for the show by the dance teacher.

Answer the following question in 30-40 words :  (1x3=3)

The King of Lilliput was a tiny man yet lic could maintain his dignity as a king.
Describe the king.

Answer the following question in 80-100 words ; (1%5=5)

[t was a difficult task for the little people of Lilliput to feed Gulliver, yet they managad
to satisfy his hunger. How did they do so?

QR

What was mentioned in the agreement between Gulliver and the King of Lilliput?

(A-B)
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SA-1 (CLASS-VI) 9/2018

SURJECT : MATHS
Time : 3 hrs MM : 80
General Insiructions :
i)  All questions are compulsory.
i) Read all questions very carefully.
iii) Questions 1 to 10 carry 1 mark each.
iv)] Questions 11 to 18 carry 2 marks each.
v)  Questions 19 to 28 carry 3 murks each.
vi) Questions 29 to 34 carry 4 marks each.
Q1. Reduce Firth to the lowest form.
450

Q2. Use the given digits 5, 4, 0, 8 and 7 without repetition to

make the greatest 5-digit number.
Q3. Draw diagrams for the following :

(a) aclosed curve

(h) an open curve
Q4. Write the predecessor of the largest 5-digit number.
Q5. Draw any quadrilaleral and shade its interior.
(6. Which is the greatest prime number between 1 and 107
Q7. Name any two cylindrical objects.
Q8. Find the product hy suitable rearrangement :

4 x 1234 x 25

9. Insert commas suitably and write the name according Lo

International System of Numeration » 189480726

Q10, Write the fraction representing the'shaded pertion.

o U

I
//

(1)



Ql11.

Q13.

14,

Q15.

Q18.

QIS

(20,

a21.

Draw a [igure and label suitably for the following :
(a) Line [ contains points A and B but not C.

(b) Two angles such that they have two poinls ™
COTNITNON,

2. Using divisibilily {est, determine whether 421838 is divisible
by 11 9rnot,

Estimate the sum using general rule ¢

6272 + 490

Write the smallest 4-digit number and express il in (he
form of ilsprime factors.

Name the polygons :

£ (b) E;

. Write the four natural numbers occurring just after 20798.

2

. Find an equivalent {raction of = having :

(a) denominator 70 (b) numerator 16
What is the measure of :

(a) aright angle?

(b) astraight angle?

[Find the LCM of 72, 80 and 108.

A school decides to distribute ice-creams on its Foundation
Day. There are 42 ice-creauns i a carton. How many cartons
does the school need to order if there are 2268 students?
From the figure : %
(a) Name three triangles
(b) Write the names of any

three angles. ' 0 z

(2).



Q023.

Q27.

328.

229.

. [a)  Compare the fractions and put an appropriate sign

(». < or =) in the box :

5 L1

8 | 19

. -3
(h) ' Draw a number line and locate = on it,
Solve the following using suilable properties :
(a) 146G % 106
(b) 436+ 13 + 64

. Find the first three common multiples of 3, 4 and 6.

1 5

2
i 2 D] P —
Solve 3 m -

. In the given figure, identify and wriic the following :

(a) one line (b) three rays (¢) two line segments.

What Iraction of a clockwise revolution does the hour
hand of the clock turn through. when it gocs from :
(a) 2 to 87 (b) 6 to 37

There are two bookshops in a shopping mall. Shop A sold

145 copies of Harry Potter book and Shop B sold 205

copies of the same in one day. Find the total number of

books sold in 20 days. ’

(a), Three different containers contain 391 litres, 425
litres and 327 litres of milk réspectively. Find the
maximum capacity of a conlainer which can measure
Lhe milk of all the containers exact number of times.

(3)



Q30.

o1,

Q32.

©
o)
a2

334,

(h) - Menlion one benefit of drinking milk.
(a) Fill in the blank ;
] crote = ___ien thousand ~

(b) The distance between Jhansi and Gwulior is 15bkm
497m. Everyday the bus ravels both ways between
the two cities. IFind the lotal distance covered by
the bus in 10 days.

Draw a circle of any radius and label
(a) its centre (b) a point in its interior

(¢) asector (d) asegment

3 1
Kanika takes 3; minutes and Aditi takes IE minufes

to walk across the school ground, Who takes lesser time

and by how much?

. (a)  Name the type of following riangles :

(i)  ALMN such that LM = 6.5cm, MN = 5¢in and
NL . =4cm.

(ii) APQR such that mZQ = 90° and PQ = QR.
(h) Which direction will you face if you start facing :

] .
(i)  west and make 5 of a revolution clockwise?

(i) south and make 2 of a revolution anti-.

clockwisce?

(a)  State which number is on the left of the other number

-k

on the number line and give reason :
9452092, 991520

(h) Find the value of 74 x 231 + 74 x 269 using
distributive property.

(4)



SA-1 (CLASS-VI) 8/2016
SUBJECT : INTEGRATED SCIENCE

Time : 2% hours . MM : 80
General Instructions :

(i)
(ii)

(iii)

@l

All guestions are compulsory.

Mention correct question number and part for each
anstver,

Attempt the questions in the same sequence as given
in question paper.

(a)

PART-A

‘Answer the following in one word or one sentence each :

(1bx1=15)
The leaves of lily plant have parallel arrangement
of veins. What type of rootl system will lily plant
have?
Name the vitamin which gets easily desiroyed by
heat during cooking.
‘X' is a fibre oblained from the outer covering of
coconut. Identify ‘X', State its one use.

‘M’ 1s a plant with green and tender siem whercas
‘N' is a plant whose slem is hard but not very thick.
Identify ‘M" and "N’

Water kept in sunlight gets heat from sun and is
cvaporated. But how does water kept under the shade
of a tree also get evaporated?

Label the parts in the given diagram -

Write any two sources of fats in our food.

(1)



Qo.

Q3.

(1) Correct the following conversions -
(i) 1m=1000¢cm (i) lem =100 mm
(1) Expand 5.1 unil. U
() Some carnivores and amnivores help to keep the
snvironmenl clean by consuming dead bodies of
animals. Whal are these organisms known as?
(k) Though fats give us more energy than ca rholiydrates,
yet they should be used in limited quantity. Justify.
(1) Name two milk giving animals other than cow, buffalo
and goat.
(m) Define yard.
(n) Identify synthetic fibres from the following :
. jute, nylon, cotton, polyester
(0) Complete the analogy :
Sugareang Carbohydrate :: eggwhite : _
Fill in the blanks . [Bx1=5]
(a) Materials needed to preparc [vod item are called
(b) The process ol arranging two sets of yarns together
ro make a fabriciscalled .
() Motion that repeats itsell after particular period ol
time is catled ______ moton.
(d) The thin wirc that gives oll light is called the _
of the hulb.
(e) The parl of a leat by which it is attached fo the
stem is called
(ive a technical term for the following ! (5x1=3)
(a) The procgss of separating cotion fibre from cotton
sceds by gambing.
(b) The indigestible fihrous material present in food.
() The continuous Process of circulation of water in

nature.

2]
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(d) It is a device with either completes the circuit or
breaks il.
= (¢) Plants with weak slems that cannot stand upright
and spread on the ground.
PART-B
Q4. Answer brielly . (10x2=20)
(a) What type of motion is shown by the {ollowing .
(i)  Aball whirled around in a circle with a string.
(i) Water dripping from a tap.
(iii) Motion of a coin on a carrom hoard.
(iv)] A branch of a tree moving to and fro.
(b) Differentiate between carnivores and omnivores,
giving one example of each.
() (1) Identify llie process
shown in the given
[igure and define it.
(i) Name one more device
which is used for the
above mentioned
procéss other than
charkha.
(d) Water doesn't provide any nutrient to our body, but

is an essential component of a balanced diet. State
its two functions.

Identify the type of root system in figure (a) and (b)
and differentiate between them. (any one)




({)

(g) () Will the bulb glow in1 the circuit gﬁren belovws
Explain.
(1) Define electric circuit.
=
(h) A student arranged the following experimerntl in
sunlight for a few hours. oy
(i)  What did the student 1
observe?

(i) Name the proccss
demonstrated by the
given experimerit.

(i) A student of class Il doesn't get enough proteins
in his diet for a long time. Write any two symptoms
of deficiency of proteins.

(i)  Ankila’s molhier boiled rice and tised the remaining
waler to starch her cotton saree,

(i)  Which value is shown by Ankila's mother?
(i) Mention one method used by your mother (o
retain the nutritive value of foad.
Q5. Answer the [ollowing : (5x3=13)
() Jute fibre is obtained (rom the stem ol jute plant.

‘K' is a natural disaster due to excessive rainfall.
[dentify 'K'. State its two cffcers.

It is cultivated during the rainy season. With reference
to jutc answer the lollowing questions -

(i)  Which type of soil is required lor growing jute?
(i) Name two slales 1-?1'1&?1‘1%_jutt‘-: 15 growil.

(iii) Wrile any one use of jute.

(4)



Q6.

Q7.

(h) Complete the lollowing lable -
Vitamin/ Deficiency Sympmr;S 1
Mineral disease
I Vitamin® | . n_'_____
2) Goitre
3) Vitamin D
(¢) (i) Dillerentiate between conductors and
insulators with the help of examples.

(i) The handles of the tools like screwdrivers and
pliers used by electricians for repair work
usually have plastic or rubber covers on them.
Why"?

(d) () Name the chemicals used to test the
components present in the following samples-
(1) rice (2)  pulses
(ii) Detine balanced diet.
(e) ‘Catch Water Where it Falls'.

(i)  Which technigue of water conservation is
associated with the given slogan?

(ii)  Suggdest lwo methods by wlich (he above
mentioned lechinique can be carried oul,

Draw neat and well-labelled diagrams of ; (4+3+3)
(i) [Edible parts of a plant

(i)  Waler cycle

(iii) An electric cell

(a)

Observe the given

figure and answer the
following questions - /

(1) Label the parls \

(1), (2) and (3).

(5]

Answer the following questions :

N3




(i) Name the innermosi pari of a flower. Mention
ils various parts,

(iii) ‘T'wo parts of stamen are 'x and y'. ldentif., £
and 'y’,

(iv) Name the part of a flower where structure (1)
is located.

supriya wanted (o measure the lengih of her Hindi

copy. When she took a scale, she [ound that the

end of the seale was worn out hefween lem and

2cm readings due to overuse.

(i)  Whal precaulions should she keep in her mind
while measuring the length? (3 points).

(if)  Ifshe starts measuring from 3em and thie other

end ol the copy is at 14.8cm, what would be
the correct length of the copy?

—



Roll No.: | Date : - Class:VI Section:

Time : 30 minutes M.M. : 15

SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)

General Insiructions

(i)
(ii)
(iiy)
(iv)

v)
L)L,

Q2.

Q3.

Attempt all guestions.,

There are 15 multiple choice questions in total. Only one of the options
in every guestion is correct. Put a () against the correct option.

Each question carries 1 mark.

Do not use white fluid on these sheets,

Use only pen to mark the answers.

Following are some features ol plants

(i) They lose a lot of water through transpiration.

(ii) Their leaves are always broad and [lat.

(iii) They lose very little water through (ranspiration

(iv)] Their roots grow very deep into the soil.

Which of the combination of above features are typical of desert plants?
(@) (i) and (i) (b) (i) and (iv)
() (i) and (i) (d) (i) and (iv)

Mulkti observes a tree (X) given in figure through a pinhole camera, Which ol
the diagrams given from figures (A) to (D) correctly depict the image seen by
her.

@ A | L) ¢

() B d D

Which of the following can never form a circular shadow?

(a) A ball (b) A flat disc

() A shoe box (d) An ice cream cone

(A-1)



Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Observe the given diagram carefully. A
patch of light is obtained al B. when the
lorch is lighted as shown. Which of the | ‘T\
following is kept at position A to get this o e
patch of light? ‘:“r -
(a) A wooden board V7

(b) A glass sheet ’z;
o

(¢) A mirror %

(d) A sheet of white paper

Which of the following mixtures is separated using filtration?

(a) oil in water (b) sand in water

(c) salt in water (d) sugar in milk

A magnet that is frecly suspended will always aligns itsell in the -
(a) North-West direction (b) East-West direction
(¢) North-South direction (d) South-West direction

Usha took a lump of dry soil in a glass and added water to it till it was completely
immersed. She observed bubbles coming out of water. This activity proves
that -

(a) Water contains air (h)  Soil contains air
(c) Soil contains water (d) Water contains soil
The given diagram represents the model of
(@) hinge joint

(b) ball and socket jont

(¢) fixed joint

(d) pivotal joinl

Megha wanls to prepare vermicompost. During

vermicomposting she can use-

A.  green leaves B. dried animal dung

C. pieces of newspaper D. plaslic coated paper

(a) (C) and (D) are incorrect (b)  (A), (B) and (D) are correct
(¢) (A), (B) and (C) arc correct (d) only (C) is correct



@Q10. The given figure represents the mcthﬂd of -

o

Q11,

Q12.

Q13.

Ql4.

(a) filtration

(b)  decantation

(c) evaporation

(d) condensation

In the figure (Refer to Q.10), parts (1) and (2) are -

(a) 1-filtrate, 2-sediment

(b) 1-sediment, 2-decanted water
(¢) 1-lLiltrate, 2-decanted waler
(d) 1l-residue, 2-decanted waler
The diagram below shows pairs of magncts. Which pair of magnets will repel
cach other?

@ [ N| (@@|N S| N| (i) |5 N|[S N{@vyN S||N 8
N S5

(a) (i) L) )
(c) (i) (d) (iv)
On allowing sunlight to enter a dark room through a slit, some tiny shining

particles moving in the heam of sunlight were observed. Thesc shiny particles
are of -

(a) water vapour (b) oxygen
(c) carbon dioxide (d) dust

Ekta kept a potted plant in a roomn a liitle away from a window through which
sunlight enters during a day. What will be the response shown by the plant?

(@) no growth (b) bends towards sunlight

(c) grows upright (d) bends away {rom sunlight

Q15. Which of the following set represents anly the hiotic components of a habitat?

(a)  liger, dcer, grass, soil (b) rocks, soil, plants, air

(c) sand, turtle, crab, rocks (d) aquatic plant, fish, [rog, inscct

(A-3)



SA-1 (CLASS-VI) /2018
SUBJECT : COMPUTER SCIENCE

‘Time ; 2 hrs MM : 50
Q1. Choose the correct option and write it in the answer sheet:
| (Gx1=06]
(a) The shortcut key used to select entire worksheet -
(i) Ctrl+ C (ii) Ctrl+V
(iii) Ctrl+ A iv] Clrl+P
(b) Function key used to edit the cell contents -
i) 2 i) FE3
(iii) F4 (iv) F5
(c) The program converted into machine language by

Q2.

the translator is called -

()  SourccProgram  (ii) Object Program
(iili) Assembler (iv) Interpreter

The term software was [irsL used by -

(i) John McCarthy (ii) John W. Tukey
(iii) John Von Nﬁumanﬂ[iv] John Byron

Dillerent categories into which computer languages
can be c¢lassified -

(i) 2 (i) 3

(iii) 4 (iv)] D

They are used to connect different hoxes in a flowchart
(i) Flowlines (ii) Connectors

(iii) Start/Stop (iv)] Decision box

Give one word answer for the lollowing statements ;. (8x1=8)

(a)
(b)

Function key used to go to specilic cell in a worksheel.

Symbol with which an entry begins if we want to
enter digi‘f_ﬁ as text in MS-Excel.

(1)



(e)  MS-Excel [eature ta fill data in different cells simply
by dragging the handle.
(d)  Computer language designed for business users.

(e)  Asetofinstructions which tells the computer what
to do.

()  Give one example of High level language.

(€  The box in a flowchart that is used to display the
final result.

() Asetof sequential steps that arc developed to solve
a problem.
Q3. Differentiale between - (3x3=9)
(a) Interpreter / Compiler
(h)  Undo / Redo commands
()  Copying / Moving data
Q4. Draw symbols for - | (3x1=3)
(a)  Processing hox
(b)  Decision box
(c) Connectors

5. Answer the following questions ;

(a) Whatis a flowchart? (2)
() Write any (wo features of High Level Languages that
make them so papular, (2)

()  How will you make madifications in cell contents
using “Edit mode™? (3)
(d)  Write any three characteristics of Fourth Generation
'T,aﬂguage- - (3)
() How is Assembly language different from Machine
language? (3)
() Draw a [lowchart to caleulate sum and difference
of two numbers. (3)

(2)



Q6

Q7.

(g)

Explain any two methods of copying data.

(4)

Megha is a computer teacher. She made the result sheel
of her class in Excel. Later on, she wanted to add 5 columns
in between the worksheel, How can she add multiple
columns in a worksheet?

(2)

Study the following worksheet and answer the questions

given helow -

= W I =

L |

D

A B C E
Car 3ale _
Model Junl Feb March T;t_;l Sale
Honda 200 i 100 220 “
Maruti 100 150 200 N
Tala | 300 | 450 | 200
Hyundi EDD 2560 300._ )

Write the formula to find lotal sale for *Maruti®,

(1)

Write the cell address for the cell that coittaiits -

(i)  Feb sale of Hyundi
(ii) March sale of Tata

(1)
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SA-1 (CLASS-VI) 2/2016
SUBJECT : FRENCH

Time : 3 hrs MM : 80

General Instructions :

U
ii)
iii)

15)

Al

Read all the questions carefully.
Number the answers as given in the question paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences,
SECTION-A [COMPREHENSION ECRITE]
Lisez ;
Bonjour! Je m'appelle Rém, Je suis indien. J'al 10 ans.
Jhabite a New Delhi. J'ai une petite famille. [l y a 4 membres
dans ma famille, Ce sont mcs parents, ma swur et moi.
Je suis étudiant. Je suis beau el intelligent. Jaime la
(€lévision. Je regarde la télévision avee ma sceur. Mon
pére s'appelle M. Rajesh. [l a 40 ans. Il est professeur. Il
parle trois langues : I'hindi. le francais et 'anglais. 1l est
intelligent. Ma meére s'appelle Madame Catherine. Elle
est belle et gentille. Elle est francaise. Elle parle frangais.
Elle a 38 ans. Ma sceur s'appelle Tina. Elle est petite et
méchante. Elle est étudiante. J'aime mes parents ¢l ma
SCCUT.

Al.1 Dites vrai ou [aux. [3x1=3)
(a) Ram aime ses parents.
(b) Le pére de Ram est stupide.
(¢) La seeur de Ram s'appelle Mina.
A1.2 Choisissez la bonne réponse. (3x1=3)
(a) Catheringe ¢st:
(i)  indienne (if) anglalsc

(iii) francaise

(1)



(b) Le pére de Ram parle langues.

(i) deux (ii) trois

(iii) ‘quatre

(¢) LameredeRama ___ ans.
(i) 38 (i) 10
(iii) 40
Al.3 Eerivez deux adjectifs du texte. (2)
Lisez:

Bonjour! Je m'appelle Rahul, Je suis grand et gros. Jhabite
4 Delhi en Inde. Aprés mon devoir, je vais au restaurant
vee ma sceur. Elle sappelle Pooja. Elle est belle, intelligente
et petite. Au restaurant, Ily acles gdleaux, des popcorns,
des burgers ct des pizzas. J 'aime lc galeau au chocolat.
Ma sceur aime la pizza. Mes parents préférent le coca. |

Jaime ma famille,
A2.1 Dites vrai ou faux. (4x1=4)
(a) Rahul habite a Pars.
(b) Pooja aime le giteau au chocolat.
(¢) Lasceurde Rahul est grande &l belle.
(d) Rahul aime s& famille.
A2.2 Choisissez la bonne reponse. (2x1=2)
(a) Ma sceur aime :
(i) lepopcorn (ii) la pizza
(iif) le burger

 de Rahul préférent le coca.

b))
1) - lesparents . (i) lasceur
(i) le frére
9.3 Terivez denx verbes du texte. (1)

(2)



B2.
Ba.

B4.

Cl.

873

C3.

C4,

SECTION-B [EXPRESSION ECRITE]
Nommez el dessinez cing parties du corps. (5)
Décrivez votre ami(e) en cing phrases. (3)

Nommez et dessinez cing vetements de [emmes ol

d'hommes. . (5]

Décrivez le chien et dessinez aussi. (5)
SECTION-C [GRAMMAIRE]

Conjuguez les verbes au présent. - (Bx1=5)

(a) Elle____ _ (manger)dela glace.

(b) Vous __ _____ (rentrer) a l'ecole.

() e | (finir) mon devoir.

) 1_ (arriver) a la maison.

(e) Sonia _ _ (étre) intelligente.

Choisissez la forme qui convient. (ox1=5)

(a) Cesont _ garcons. (un, une, des)

o) (I P 01 (X -5 | chocolat. (le, la, 1)

(¢) Shrutiaime la robe . (bleu, bleue, bleus)

(d) Clestune _____ _fille. (pclite, petit, pelits)

(e) Elle a des cheveux ___. (noirs, noire, noires)

Remplissez les blancs avece I'adjectif possessil. (Bx42=3)

(mon. ma, mes, ton, ta, tes, ... cte.)
(@) Ilvaaucinemaavec ___ cousin.
(b) Nous regardons ___photos.
a{e) Ty portes . __robe.
() rdefinis . ... devoir.
(e) - “Vous jouez avec . . amis?
1 -Beparlent avec professent,
Conjliguez le verbe ‘changer’. (3)

&)



Ch.

(9.

£10.

D1,

Donnez le pluriel des noms suivants.

(u] Legarcon (b)
(c} Lejournal ___ . . (c1)
(¢} - Lafleur __ : (f)

Mcttez les phrases au féminir.
(a) le garcon est sympathique.
(b) Dl est infelligent.

(¢) C'est un petit étudiant.

Ecrivez les nombres ordinaux.

(a) 6th (b)
() 17th ()
Ferivez le contraire des adjectifs.
(a) petit = (b)
() gros# (d)

Mettez les phrases en ordre.
(a) leurs/aiment/Ils/parents.
(b} fleurs/sont/jolies/Les.

Chassez l'intrus.

(a) mangder, nager, parler, ranger

(b) écharpe, pantalon, jupe, robe

(BxY4=3)
Lec joujou \
Le stvlo.
Le bateati

(3x1=3)

(dxli=2)
10th
7th

(4x14=2)

sympathique =
long =

(2x1=2)

[2x1=2]

SECTION-D [LA CULTURE ET LA CIVILISATION]

Diles vrai ou faux.

(a) Marie va au zoo le dimanche.

(b) - Sylvie finit ses devoirs.
() Rohitest franeals.. -

(d)’  Andre a une raguctie.. . .

(bx1=5)

(&) Les lecons du livre sont intéressants.

(4)



D2. Cochez la bonne réponse. (5x1=5)
(&) Dans le restaurant, il y a des:
(i)  lables noires (ii) chaises noires
(iif) couverls noirs
(b) Maria est :
(i) [rancaise (i indienne
(iii) italiennec
(c) Sylvie choisit une jupe :
(i) bleue (ii) rouge
(iii) noire
(d)] Marie va au zoo avec :
(i)  sesparents (i) safamille
(iii) seés amis
(e) Le tidre est:
(i)  petit (if) mince

(iii) grand

D3. Reliez les colonnes. [10xX%=8] -
(i)  jupe (a) une partie du corps
(ii) chien (b)  un adjectif possessif
(iii) [inir () unadjectif
(d) un article indefini

(iv] nez
(

v) indienne &) nrieecole

vi) heau f) un nombhre ordinal

(
( (
(vii) une (g) unanimal
(viii} deuxiéme (h) . unvétement
( (

ixf livre - - i) 1D verhe |

(x) ton (j) uneationalité
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Q1.

SA-1 (CLABE-VI) 9/2016

SURJECT : SOCIAL SCIENCE

Time : 3 hrs MM : 80
General Instructions :
i)  Read all the quem‘:mnva carefuily mzd number tha@ |

answers according to the questions.
Multiple choice guestion is to he answerad in [he
answer sheel ﬂnly

Write all the answers in neat and Eé‘gthﬂ hemdwriting.

| Attempt all the questions,

Write complete seniences fﬂf‘ guestion numbers 2 and
3.

Attach the maps properly to main shezl.

Questions mrrying 3 marks should be answered within
60-80 words.

@uestions carrying 5 marks shotld be answered within
80-100 waords.

Each question has four options out of which only one is
correct. Choose the correct option and write it in the answer

sheet. . (6x1=0)
(i) One Qf ihe mosl famous Palaeolithic site found in
Karnataka was
(a)  Bhimbetka - '[h] Hunsgi
-[c]' Kut'ﬂp{)l.cawes (d) Hallur
(1) | fﬁund in Daogjali Hading was brought from
China
(a) Limestone (b)  Jadeilc stone

(c) = Sandstone. . . (d) Redslone

(L



fu

(iii) The phrase Unity in Diversity' was coined by
(@) Pt.Jawaharlal Nehruy
(b)  Bhimrao Ambedkar
(¢) | Indira Gandhi
(d)  Mahatma Gandhi

(iv] . means to judge someone nedatively or to
see them as inferior,
(@) Secularism - (b)  Stereotype
(¢)  Prejudice ' (d) Uﬂtﬁuchabmty

(v)  On 22nd December, the sug rays [all directly on
(a)  Frigid zonc (L) Tropic of cancer
(¢) Eq uator (d]l ~ Tropic bf Capricorn

(vi)  The axis of the eart]; is inclined at an angle of
with the orbital plane.

() 2314° (b)) 80?
(c 20° (] 664°
&) Coneft the followlng meeneustafements (6x1=8)

(a) Seasonal rivers are the rivers that have water
throughoul the year, |

(L) Burial sites were the places where sacrifices were
performed,

(6)  Bhutan is also called as 'Little Tihet'

(d) Inag democracy the King has (he power to rup (he
government, ’

(6)  Map showing rainfall distribution iz a physical map.
(I) Temperate zane i.fj Lhe .hottest ZQIle on the earth,

Q3. Answer the following questions in onc sentence ench:
' - (Bx1=8)

(8)  Name the two places where fire altars have bepn |
found in Harappan civilization, '

2]



(b)  Define Microliths.

(c)  Where was the city ol Dholavira 10ﬁafﬁzd?

(d) * List any two lunctions of a government.

(e) What was Suffrage Movemenl?

() Which longitude s considered as the Standard
Meridian of India?

(g) Give any one advanlage of using a glohe,
() Identify the given conventional symbols ;-
'PIQ’ and ‘PS5’
Q4. Wh}? did hunter gaiherers move frorm one place to anathar?
. ] | (3)
Q0. Describe the life of a farmer in Harappan ecivilization.(3)

Q6. Which two techniques were used lo make tools during -

the Palacolithic age? ()
Q7. Do you think "T.Tnity in Diversity' is an appropriate term
to describe India? Explain. (2)

Q8. Differentiate between the lives of people living in Kerala
- and Ladakh, | (3)
9. What is democracy? Give any two characteristic fealures
of a democratic government. (3)
@10. Write a short note un ‘Summer Solstice’. | (3)
Q11. Briefly describe the components of a map. (3)

012, (a) Why do we need to have standard time? Explain'with example.
(b) Which country has 11 time zones? (2+1=3)

Q 13. Which is the oldest civilization in history? What were the reasons
for its decline. (1+4=5)

- Q14. (a) Discuss the major changes that took places during Mesalithic
period. |
(b) Differentiate between Palaeclithic and Neolithic Age. (2 + 3 = 5)

(3)



015. (a) Whatis inequality?
(h)  Write any [our provisions provided i1 the eonstituitian
to ensure equality among the citizens. (11+4=5)
Q18. Explain the formation of day and night with the help ol
well Iabelled diagraim. | (3+2=5)
Q17. (1) What is Grid?
(b) Write a note on ‘Parallels of Lalllude’, (2+3=5)
Q18. Attempt the following maps :
(a) On the provided polilical map of India, name and
mark the following : | (4x1=4)
()  Sitc famous for fresh water and fertile soil.
(i) A Neqlith.ic Site
(iii) Place where traces ol ash havé heen found
: during Lhe Pulaeolithic period.
(iv) An early city where Great Bath IWHF; torind.
(b)  On the provided political map of the world, namc
and mark the following : (4x1=4)
(i) Largest continent
(i) Mountain range in South America
(i) An ocean named aller a country
[

iv] Mountain range that divides Europe and Asia.



